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Ms&sH 45,707,603 50,482,512 A4,774,909
= 80,000
Xl 11,382,000
| 8,764,388
< 24,624,215
£ 857,000
SEHHNSME 45,237,823 49,365,042 A4,127,219
= 80,000
Xl 11,382,000
| 8,764,388
< 24,154,435
£ 857,000
=M=z 16,698,741 15,720,600 978, 141
= 15,841,741
£ 857,000
T =8 sS4 & dx2e 2,385,190 2,139,000 246,190
201 Let249] 440,000 480,000 240,000
01 At 22l 440,000 480,000 240,000
OZENMSE =4 ANEES S 440,000
301 L2 A Z 1,945,190 1,659,000 286,190
V=t - 2sR2SE43 1,945,190 1,659,000 286,190
OEN=E8 54 & d==22| 1,659,000
02016 I MAEUH Hdx=22 286,190
Al-ZE =S8 sS4 5,449,000 5,188,000 261,000
308 XXM SO0 5,449,000 5,188,000 261,000
01 AXNSGHBLEES 5,449,000 5,188,000 261,000
OAl - 238 =4 5,449,000
H=2HE d=2d 2 Lsd 8,864,551 8,393,600 470,951
< 8,007,551
£ 857,000
307 glz2+ol & 8,864,551 8,393,600 470,951
= 8,007,551
£ 857,000
02 RIZFE MM E X 7,319,629 8,393,600 A 1,073,971
OF=(2¥)MEUs XA 2,065,300
< 1,765,300
£ 300,000
OZ2HM=sUa XA 104,370
OZJIeH & =54 4,234,559
< 3,677,559
£ 557,000
OxM=szdsE & 2Mn= X 89,400
O&JIXNE A &2l 826,000
03 BIZIFH B E2IHIEX 1,544,922 0 1,544,922
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| | N EEFEEEE 1,544,922
HEASE 84 1,123,270 954,270 169,000
= 80,000
= 1,043,270
COM=UE HE XS 600,000 600,000 0
308 MXISHHMSOIA 600,000 600,000 0
01 HXHHIMNEEXTS 600,000 600,000 0
OHMeral EQIM=0a = 600,000
AIHH 4 & 130,000 130,000 0
307 212t0| & 130,000 130,000 0
02 QIZHB AAIE E X 130,000 130,000 0
OZ3JHH s4X& 130,000
2 0IetE 3l 100,000 100,000 0
308 XHXIEHSOIA 100,000 100,000 0
01 AIXSHMEMNEX= 100,000 100,000 0
OZ2=0lctEd s X 100,000
ALRAS M20dE Ad-)|2 2H 80,000 58,000 22,000
= 80,000
308 XAHXIGHH SO0l & 80,000 58,000 22,000
= 80,000
01 AIKISHHENEXZ 80,000 58,000 22,000
OAZ XA MI2oy Ad4)2 29 80,000
= 80,000
Nes &= 196,270 66,270 130,000
201 et | 21,000 0 21,000
03 A2 Y| 21,000 0 21,000
O4S d & op2t00l 24 21,000
203 R F & 6,270 6,270 0
03 AIZH =X 2= X H| 6,270 6,270 0
OMEsdMIALFA 2,850
OHdsXNIHd2=4A 3,420
301 LBt A= 24,000 0 24,000
09 HAIAHI EAZ 24,000 0 24,000
O4S E = 0i2t4iol A A Ad24A 24,000
307 QI2+0| & 40,000 40,000 0
02 QIZIA AAIE E X 40,000 40,000 0
OfKz2= 0tctEdia X 40,000
308 MXISHMSOIA 105,000 20,000 85,000
01 X HHIMNEEXTZ 105,000 20,000 85,000
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SE2HsdEEds 29 17,000 0 17,000
201 Let2d] 17,000 0 17,000
01 At 22l 17,000 0 17,000
OM=sdEEg2ds 29 17,000
M= 2t 5,099,864 4,831,422 268,442
Jl| 2,174,388
< 2,925,476
MEys 2d3 4,160,528 3,939,378 221,150
J| 2,151,800
< 2,008,728
307 21201 A 1,023,074 966,827 56,247
J| 102,079
< 920,995
02 It M AHE L 321,024 966,827 A 645,803
OMax= XZA biXIAS 55,776
J| 24,288
< 31,488
OEdNE NEA 25X 27,888
J| 12,144
< 15,744
O&s=gSgaeld XA 117,400
OMERE XRos 4,000
O=Mai=s N=X g8 N 65,960
o322 &2 U e 50,000
03 AHMEE2IHIES 702,050 0 702,050
Ok dExN=sz 24X 702,050
J| 65,647
< 636,403
308 XX EHSOIA 3,137,454 2,972,551 164,903
J| 2,049,721
< 1,087,733
01 HIXNHHNBMNEES 3,137,454 2,972,551 164,903
OoMax=s X=X biX AL 1,392,384
J| 898,656
< 493,728
OZ2dNE NEA 2sX3 1,016,064
J| 655,776
= 360,288
OodgxsZz20d 29 90,000
OAZZHIRHAAS 559,006
J| 495,289
= 63,717
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OFME YU HEIX XS 50,000
OFY MEH=ss 38 M=g2s N3 30,000
MEHSUHE Hx & FHIOMXE 939,336 892,044 47,292
Dl 22,588
& 916,748
307 QI2t0| & 939,336 892,044 47,292
Dl 22,588
= 916,748
02 At AMAIEE =X 939,336 892,044 47,292
OMEH=a Nz ¥ EIAH 864, 160
OMeils stotdtia 10,000
O MENsUHE 65,176
J| 22,588
& 42,588
OIS B4 2,427,448 7,205,000 N4 777,552
Dl 30,000
& 2,397,448
ZoeINEE 29 693,448 645,000 48,448
307 QI2t0| & 693,448 645,000 48,448
03 AN EESAHE=X 693,448 0 693,448
O&MeM=z 29 693,448
0o MNEME B4 1,118,000 1,078,000 40,000
Jl 30,000
o= 1,088,000
307 212t0| & 1,118,000 1,003,000 115,000
Dl 30,000
& 1,088,000
02 DI2tF AALH B X 1,118,000 1,003,000 115,000
O&FMANMIM=C E3Hl X2 260,000
OM=s&H X& 50,000
OJtWAIISH X& 46,000
ONZEHMAM=UI LA ZAZE XS 90,000
OsotH 20 H=UHS &It 247,000
ONZHMWEMY=US Ot 20,000
Od=U3 MHzal & EIHXA 100,000
OZUWU3E HEIX 30,000
OsdZedEsia X 65,000
OANEFz ZOHe MEXHEHI XA 30,000
Jl 30,000
OXHoAAdE 2HA(EXIO0H) 180,000
oo MEME 4 346,000 311,000 35,000
307 212t0| & 346,000 311,000 35,000
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02 YAFLAANFEE 346,000 311,000 35,000
OMEN =&AL 116,000
OXLM M=K X 225,000
OOt MEHMSMHH AAY 5,000
SESHMHAMSUE MHEX XA 120,000 120,000 0
308 XXIEHHSOIA 120,000 120,000 0
01 AXHHILEES 120,000 120,000 0
O=EZMHAME HEX XA 120,000
ANz Z0He2s3I18 X&E 150,000 80,000 70,000
308 MtXIEHMSOIH 150,000 80,000 70,000
TAXNEHBEEXS 150,000 80,000 70,000
OANZE ZOMHARSZIIE X2 (XA 150,000
HM=s Jlgt Al =5 2 X 19,888,500 20,260,000 A 371,500
X 11,382,000
J| 6,560,000
< 1,946,500
SSHSAE &5 & Ex=22 375,000 1,075,000 A700,000
403 Mt SHHSA=0l& 375,000 1,075,000 A700,000
01 HXSHMA=E X 375,000 1,075,000 A700,000
02016 =2 H=EU2 ANEESES 300,000
02015 & ZMHAMSUHE AMEEFE2H 75,000
A8 MEHSANE & B2 871,500 3,020,000 A 2,148,500
403 XIS E X201 H 871,500 3,020,000 22,148,500
TAXEH A= X 871,500 3,020,000 A 2,148,500
O272 HESAME JIseEZ 871,500
HEHNSSIZH 636,000 636,000 0
X 636,000
403 Ut SHHSA=0l& 636,000 636,000 0
X 636,000
01 HXSHMA2E X 636,000 636,000 0
OFAHHLSHEM SIS AL (BTL)A 636,000
Xl 636,000
NEHSALXA 8,846,000 7,939,000 907,000
Xl 8,146,000
< 700,000
403 MtXISHH S0l & 8,846,000 7,939,000 907,000
Xl 8,146,000
< 700,000
01 XM A=2EE 8,846,000 7,939,000 907,000
OMEESE2sE 28 1,800,000
Xl 1,100,000
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& 700,000
OOrMANLHMI S 2 =4 3 AH(BTL) 646,000
Xl 646,000
OWAZoM=2 HE 1,819,000
Xl 1,819,000
OO0IMSSAZIRMEHAE 1,890,000
Xl 1,890,000
OHEAN &2& HE 51,000
Xl 51,000
OS&AUHILAEAHE 600,000
Xl 600,000
Oolnsdesdgs22d 1,000,000
Xl 1,000,000
OHE s=3& XX 222 120,000
Xl 120,000
Ot ENEE2HE 450,000
Xl 450,000
OYANESH N2 AL =MEH 200,000
Xl 200,000
O=d A= HE 270,000
N 270,000
S0XHAEH XA 5,600,000 2,700,000 2,900,000
Il 5,600,000
403 XtXISHH S K201 5,600,000 2,700,000 2,900,000
J| 5,600,000
01 MAXHNMAEE = 5,600,000 2,700,000 2,900,000
O=0MY=H6EH X3 5,600,000
Dl 5,600,000
SSEMEMEAIE X3 2,450,000 2,800,000 A 350,000
Xl 2,450,000
403 XX S M S X201 A 2,450,000 2,800,000 A 350,000
N 2,450,000
01 MXHAMAE2EE = 2,450,000 2,800,000 A 350,000
O2sHMENEAE XN 2,450,000
Xl 2,450,000
HHAZTEALR S 150,000 532,000 A382,000
Xl 150,000
403 XX S M S K201 A 150,000 532,000 A 382,000
Xl 150,000
01 AIXISHM A28 X 150,000 532,000 A 382,000
O MAZ= AR 150,000
Xl 150,000
St HE 960,000 1,200,000 A 240,000
J| 960,000
403 XtXISHH S K201 960,000 1,200,000 A 240,000
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J| 960,000
01 XIS A 2E X 960,000 1,200,000 A 240,000
ONgYd O=sH sudsa HE 960,000
J| 960,000
HEeES(HEIED) 414,000 1,049,000 A 635,000
PSS ONE] 414,000 1,049,000 A 635,000
OSSN SAXHENUS |z as 414,000 1,049,000 A 635,000
311 X 20| AHAH & 14,000 49,000 A 35,000
03 SAHEXL 20| AHA & 14,000 49,000 A 35,000
02000 HMot=ste=2 HE(MEXZ) 14,000
601 Xl 2 S 4a& 400,000 1,000,000 A 600,000
03 ELAEXNL 2S4S 400,000 1,000,000 A 600,000
02000 HMot=gt2=2 HE(MEXZ) 400,000
HMSHAH (MESAEY) 55,780 68,470 A 12,690
JlE&ddl 55,780 68,470 A 12,690
Jl2 &4l 55,780 68,470 A 12,690
201 Bt 26,600 32,300 N5,700
01 AP 22| H| 26,600 32,300 A5,700
OMEsdEzd2FA 26,600
202 04d| 26,180 31,970 AN5,790
01 2L I 26,180 31,970 A5,790
ONMEIN=sg R 26,180
203 &2 =&XH| 3,000 4,200 AN 1,200
04 FEASHELIFFEH| 3,000 4,200 AN 1,200
ONM=s&d= 3,000




